< 1YYy

(GEOMETRY)' stsuiig_

SSC on1 79i1 172’1811311 z‘»F iT

BY MATHS GURU () OMB | 04:00 PM



& TS TR |, AQ = 4V2 BT, QC = 62 &Y, 37 AB = zoﬁﬁr%mﬁPQ,Bc%mﬂm
. @ PB &1 | (& ) T £

In the given figure, AQ = 4v2 cm., QC = 6v2 cm., and AB = 20 cm. If PQ is parallel to

BC, then what is the value (in cm) of PB? SSC CGL - Mains - (19 Feb 2018) Shift-1
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In a circle with center O and radius 5 cm, AB and CD are two parallel chords of lengths

6 cm and x cm, respectively and the chords are on the opposite side of the center O. The
distance between the chords is 7 cm. What is the value of x?
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AABC ~ APQR, the areas of AABC and APQR are 64 cm” and 81 cm?, respectively and
AD and PT are the medians of AABC and APQR, respectively. If PT = 10.8 cm, then AD
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In A ABC, ZA =90°, AD 1 BC at D. If AB =12 cm and AC = 16 cm, then what is the

length of BD?
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A circle is inscribed in a triangle ABC. It touches sides AB, BC and AC at points R, P and Q,

respectively. If AQ =3.5 cm, PC =4.5 cm and BR =7 c¢m, then the perimeter (in cm) of the
triangle AABC is ?
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PQRS is a cyclic quadrilateral. If ZP is 4 times ZR, and £S is 3 times £Q, then the

average of £ZQ and ZR is ?
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Chord AB and diameter CD of a circle meet at the point P, outside the circle when the
produced, If PB =8 cm, AB = 12 ¢cm and distance of P from the centre of the circle is 18 cm, the

radius (in cm) of the circle is closest to ?
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In a circle with center O, AB is a diameter and CD is a chord such that ZABC = 34° and
CD = BD. What is the measure of ZDBC?
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In a circle, AB and DC are the two chords. When AB and DC are produced. They meet at P. If
PC=5.6 cm, PB=6.3 cm and AB = 7.7 cm, then the length of CD is?
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